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i -1 : L a3
If y=a™ 2 then (1= ,rz_}?j_ y =
Options :
2x dx



Question Number : 2 Question Id : 80089422252 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For which of the following function Rolle’s mean value theorem is applicable
Options :

| x )= % an[l,2]

, % fO=@—-17 on[0.2]

xﬂ

:6} on[2.. 3]

L o f@ =l %

4 % f(x) = |x]on [-1.1]

Question Number : 3 Question Id : 80089422253 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Suppose @ +a—;+% $oe i % =0, a; €R. The number ofroots of ay +a; x+ - - - + g,x" =01in
the interval (0,1) s

Options :



at least one

n

exactly 2

Question Number : 4 Question Id : 80089422254 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

... logsinx
The value of lim —2
r—0 cotx
Options:
1.8 =@

> % Does not exist

Question Number : 5 Question Id : 80089422255 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Envelope of the family v = mx + 1+ m? is
Options :

| x2=4(1—-y)



x2=41+y)

2_ F
. x Fr=d{l~a)
sz Yi=41+2)

Question Number : 6 Question Id : 80089422256 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2

EL 2 2 a*u
If u(x,y)=1l1og(x*+y=) then e

Options :

1. % xZty3

2X

2 % [’.I-{-E +};|-2}E

_ Axy
3, % (F+y2)

2{y*—x%)

4 y/ {xz +}r2J2

Question Number : 7 Question Id : 80089422257 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

: x2 : T - T
The degree of the homogeneous function z = 73 €08 (l + %—i— ;) 15

Options :



[

Question Number : 8 Question Id : 80089422258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For the curve (x? + y2)x — 2y? = 0. which of the following is true?

Options:

The asymptote parallel to y-axis is x — 2 = 0. and no asymptote parallel to x-axis

> % Given curve does not have asymptotes

3 % The asymptote parallel to x-axisis y — 2 = 0, and no asymptote parallel to y-axis

4 % The curve represents straight line

Question Number : 9 Question Id : 80089422259 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

x 9
An asymptote of the curve vy =——— is
e - Y = tx-12

Options :

1. % X=8



4. X=3

Question Number : 10 Question Id : 80089422260 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Stationary points of the function f(x,y) = x®+y®> —3x— 12y +20 are
Options :

1 e (L)

> % This function does not have stationary points

3.« 2k =23 002 :(—1,—2)

Question Number : 11 Question Id : 80089422261 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. oL — . d z .
If the solution of the differential equation a_: = ig?_‘i 18 2xlogy—f(y)=c.thenf(y) =
Options :

| o (logy)?

, » (ogy)



5. % (logy)®

, w Qogy)™

Question Number : 12 Question Id : 80089422262 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The integrating factor of the differential equation  (y* + 2y)dx + (xy® + 2y% — 4x)dy = 0 is

Options :
1

1.8 %

| e

= |~

4.7

Question Number : 13 Question Id : 80089422263 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If a curve v = f(x) passes through the point (0.1) and g =2xyie®+y is

Options :

1w YA —xP) =¢*

i By IR <
5 % y(l+x%)=e



3 % XA —y?)=€"

V(1 —xH) =e*

Question Number : 14 Question Id : 80089422264 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

¢ dx dy iz . '
The general solution of e e o 18 ( Here ¢y, c; are arbitrary constants )

Options :
| % X—y+tz=¢c ; iyt =0
o x XY —YZ=0C1 ; ¥ 350 =

o Xty+tz=¢ ; x2+vi+zi =0,

4% Xty—2z=0¢ ; x2+3v2+5z%2 =¢,

Question Number : 15 Question Id : 80089422265 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3
The solution of y = Z.x’d—i 4+ (é) in parametric form with ‘a‘ as parameter is
Options :
2c  a®
y=2ax+a®, y="——
1.V L

az
v =20x+ a® | V=21 =5



™
&

y=2ax+a®, y=2ac+<
3. % ° ' 2

y=2ax+a® , y=——=
4, % ° ' 2c 2

Question Number : 16 Question Id : 80089422266 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

' d — : :
if p= =, then the general solution of xX’p+xyp—6y2=0 is (Herec is constant )
dx- “ r

Options:

| & OP—axDPx—c)=0

L« @y =) =0

Lo =) —0) =0

4w V=0 —cy) =0

Question Number : 17 Question Id : 80089422267 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. : e > dxr x :
The integrating factor of = —I—; =1 48
Options :

2
1.8 Y
2



Question Number : 18 Question Id : 80089422268 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: . ; : d : .
The general solution of the equation y = 2px + p?y is (wherep =d—D (Here ¢ is an arbitray constant)
Options :

el B
1 ¢ 2 — "k 0
) & PX=cC

3 % PXy=c

4w V=€

Question Number : 19 Question Id : 80089422269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The solution of xdx = —ydy = (x? + y?)dz is

Options :

_— 2x%2z+2y%z—x%? = f(x?2 + y?)

5 % 2xlz ¥ ytz £t = F(x? +9%)

3, #®



2x%z+ 2y%z —x? = f(x? —y?)

2 2 Fopen® ool
o 2X°ZH2Y°ZEX = fX°—F)

Question Number : 20 Question Id : 80089422270 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; : : . d
The general solution of xy(y —px) =x+yp is (where = d—i)
Options :

L .
1% X°=Y g s e

B o
, % X°=cy g e i |

yi=cx+c+1
3. % - ;

4o Y=cx?+c+1

Question Number : 21 Question Id : 80089422271 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Particular integral of the differential equation rixJ; tyr==2e" 5
Options :

. X
1 % 3e

1 xX

S €



3 % 2 e*

Question Number : 22 Question Id : 80089422272 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The particular solution of (D% 2D +5)y =0, (where D= i). when y=0 and %: 4 at x=0 15

dx
Options :

1. % Yy=3cosx+4sinx
2w ¥= Ze* sin 2x

3 x ¥ =4sinx

4x V=4 D)

Question Number : 23 Question Id : 80089422273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

d*y
dxs

The roots of auxiliary equation of +4y =0 are
Options:



Question Number : 24 Question Id : 80089422274 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

; ; R d ; d
The particular infegral of d—g —|—d—i =x24+2x is (where D= E)

Options :
_x.z
1.4 3

xZ
6

2. %

Question Number : 25 Question Id : 80089422275 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

n

) .
then ———(e*cosx) =

If D™ denotes the operator . .
dx™ D2-2D+4

Options:

1 & € cosx

2e* cosx
W

1
Eex COSX
3. %



1
—Ee"" COSX

Question Number : 26 Question Id : 80089422276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Particular integral of (D? + D + 1)y = 3x2e¥ is (whel'e D= %)

Options :
1 %2 fo_ A
- S € (3x"—bx —4)

1

. u i3 e*(3x% + 6x +4)

e (=3x% + 6x — 4)

Se¥(3x% — 6x +4)
4,

Question Number : 27 Question Id : 80089422277 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The partial differential equation for the family of surfaces z = F(x® —xy +y?) is
(Here f 1s an arbitrary function, p and q are the partial derivatives of z with respect to X and y respectively)

Options :
| x PX—ay=2xp—2yq

2. ® PX—qy=2xq—2yp



3 ¢ PX—qy=2yp—2xq

4 % PX +qy = 2yp + 2xq

Question Number : 28 Question Id : 80089422278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

g%z
dx2

. . ’ d .
A particular solution of +z=0. when x =0, z =¢?Y and a—i =1 48

Options :

1 % Z=sinx—e*cosy

— - — a¥ ai Ty
2 % Z COsS X e’ s3I

z=2s8inx +eYcosx

4 % Z=C0sXx+e sinx

Question Number : 29 Question Id : 80089422279 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The solutionof p—qg®=1is (wherep = :—; and g =)

@
dy

Options :
1% z=ax+ (@ -Dy+c

, % = ax +(a®?+ 1y +c

3 P Z= ax+(Va—1)y+e



g xz=ax+2(Va-T)y+ec

Question Number : 30 Question Id : 80089422280 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The complete solution of (x%2 — y2)p + (v2 —zx)q = z% — xy is

8 a : . :
(Here p = a—; L = i and ¢ is an arbitrary function )

Options :
1% Px—yz—x)=0

2% 6O —2,2—1)=0

o2 -

x—z "x—=z

3. %

, S E)=e

Question Number : 31 Question Id : 80089422281 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

iy = T ; 1 : 1 o
If a, = k=1{.—k {k+1}-j . then Al_}g p
Options:

1.v 1
2.% 0

| ]



Question Number : 32 Question Id : 80089422282 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

lim (l = %);12 =

n—oo

Options :

1
e

m | |

W | =

Question Number : 33 Question Id : 80089422283 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

inz-1

s e for n=1 then t,4, =

Iffl = ]. i.:llld I-?H'l =

Options :

((zn)1)*(2n+1)
287 ()%

((2m)!)*(2n—1)

24n(pl)s

2. %



((zm)))*(2n+1)
3. % 22n(pl)2

((zn)!)*(2n-1)

22n(pl)2

Question Number : 34 Question Id : 80089422284 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is an increasing sequence ?

Options :
ra=ntmt+1,¥nz=1
1.¢
3 =
n = a1’ n=1
2. %

1 -
o =n—z,‘v’ n>1

A n=1

I~ n2+3

4. %

Question Number : 35 Question Id : 80089422285 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

- .  MIT .
If a, =sin—. then lim supa, =
4 f—+o0

Options :

1.«'/1



#‘-\_
“lm

[

Question Number : 36 Question Id : 80089422286 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following series is convergent?

Options :

L
| @ n=1pz44
o 5N+13
=1 nt11

2. #®
100.
oo n

3, #®
T
4% n=1,m+1

Question Number : 37 Question Id : 80089422287 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2Zn—1

The sum of the series anzlw =



Options :
2

1. % 2

b | = | =

I

Question Number : 38 Question Id : 80089422288 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following series is convergent?
Options :
n
Zne1

1. % Sn=+3

« Zaeain-tL— V)
w S0 4
® Zn:l(nZ - 3n

n
Z;]..:l:l 8;1
e

Question Number : 39 Question Id : 80089422289 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A divergent series among the following is
Options :

n+1

Z n3+2

1. %

Y

2 nz+1

3 nyn 4n

nyn+2

n+l
2

4 8 ﬂ5+5

Question Number : 40 Question Id : 80089422290 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
U, >0 Vn, and the series u; —u; +uz —uy +- - - - - converges. if
Options :

u <u, ¥vn andlim u, =0
_— n+1 T St n

lim u, =0
2. ® Mo

- Upyq = Uy VN

b, =%o
4, ¥ noowo

Question Number : 41 Question Id : 80089422291 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The radius of convergence of the power series Yoy 3 ™x2" is

Options:

Question Number : 42 Question Id : 80089422292 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Consider the sequence {f,}, where f,(x) = ﬁ xeER

H f{x)=hm.(x), then M =saplf.{x)—Ff(x)] 1s
n—0oo x
Options :

1.v 2



Question Number : 43 Question Id : 80089422293 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a,="%"n . then limsupa, =

n—oo
Options :

1.¢ 1

Question Number : 44 Question Id : 80089422294 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the series of fimctions Y.(1 — x?)x™ on [0,1] then which of the following is true ?

Options:

1 % Eachterm of the series is continuous on [0,1] and the series converges uniformly to the function (1+x) .

5 % Each term of the series is NOT continuous on [0.1] and the series converges uniformly to the function (14x) .

Each term of the series 1s continuous on [0,1] and the series does NOT converges uniformly to the function

3 x (1429).

Each term of the series is continuous on [0.1] and the series does not converges uniformly to the function

4. v (17%).



Question Number : 45 Question Id : 80089422295 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; : 1+4sin? : .
H frix)= % , X €ER. n €N thenthe sequence {f,(x)} is
v

Options :

1« Converges uniformly on R

5 » Converges point wise but not uniformly on R

3 % Converges atno point of R

4 % Converges at only one point 0

Question Number : 46 Question Id : 80089422296 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the sequence {f,}. where f,(x)= % ¥ €[01].If f(x) = lim f,(x), then
e N—*0

Options :

L dm [ fCody = [ Feody

. rlll_l}gj j'nl fn(x)dx # a finite quantity

lim [ f()dx = [ f(0)dx

3. %

Iy :
4 % fﬂ f(x)dx does not exist



Question Number : 47 Question Id : 80089422297 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
0,4f xednjl2]

1,ifxe®-0Q)n[L2]’ For any partition P of [1.2] . L(f. P) =

Define f(x) = {

Options :

1.% 1

2.+ 0

3 % Can not be found

Question Number : 48 Question Id : 80089422298 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Lif xis rational

Consider the function fon [a, b] defined as f(x) = _1,if xisirrational

. Which of the following is correct?

Options :

o fis integrable. and [f] is not integrable

5> % fis notintegrable. and [f] is not infegrable

3 @ fis not integrable. and |f] is integrable

4 % Tisintegrable, and [f] is also integrable



Question Number : 49 Question Id : 80089422299 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is false?

Options :

1 % Every continuous function f on [a. b] is Riemann integrable

) Every bounded function f on [a. b] is Riemann integrable

3 % Every bounded monotonic function f on [a. b] is Riemann integrable

4w Every uniformly continuous function f on [a. b] is Riemann integrable

Question Number : 50 Question Id : 80089422300 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A function f is bounded and integrable on [a. b] and there exist a function F such that F' = f.
Then fﬂh flx)dx =

Options :
f(b)-f(a)

—(f(b) — f(a)

F(b) — F(a)



Question Number : 51 Question Id : 80089422301 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is false?
Options :

| % Agroup G is abelian if (aby 1=a"b"* VabeG

> % A group Gisabelianif a=a 'Va €6

3. % A group G is abelian if (ab)? = a?b? Va,b € G

" Every group of order 6 is abelian.

Question Number : 52 Question Id : 80089422302 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a group?
Options:
{1} under multiplication

1. %

) The set of rational numbers () under multiplication

3. % The set of all nX n matrices with determinant either 1 or -1 under matrix multiplication

The set of real numbers except -1 under the operation * defined by
4.% a*b=a+b+ab



Question Number : 53 Question Id : 80089422303 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a sub group of (z,+) ?
Options :

1 % 2z,+)

5« {2k+1:k ez}, +)

3 % ({3k:1kez},+)

4. % ({4k: k €z} ,+)

Question Number : 54 Question Id : 80089422304 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is sub group of (R, +) ?

Options :
, o @2,

L x ({LeLidi}. )

4% (Z29,+20)

Question Number : 55 Question Id : 80089422305 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Let G ={+1,+i,+j, £k} be the quaternion group under multiplication,

Then the mumber of distinct cosets of the cyclic group (i) in G is
Options :
1. %8 1

Question Number : 56 Question Id : 80089422306 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let Spbe the Symumetric group on # symbols then the order of Sg is
Options :

1. 720

> = 360

3. % 12

4 % 36

Question Number : 57 Question Id : 80089422307 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let 55 be the permutation group on the set {1. 2. 3}. Then the centre of S5 is



Options :

1.v 1€

fe.(123).(132)}

fe.(1 2))

{e. (@2 3)}

Question Number : 58 Question Id : 80089422308 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The number of homomorphisms from the group (z,q,+5) info the group (z, +19) 18

Options :

1.« 10

Question Number : 59 Question Id : 80089422309 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let H be asubgroup of a group G then which of the following statement 1s true?

Options :

1. %



2. %

2o
3 @ H*=H
s % B =G

Question Number : 60 Question Id : 80089422310 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
g X En

Order of the factor group <@D>

Options :

1.« 4

e

Question Number : 61 Question Id : 80089422311 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The set of numbers {m +ny2 :m, n € E} is a subring of

Options :

1 % The ring of all integers under usual operations



> « The ring of all real numbers under usual operations

3 % The ring of all rational numbers under usual operations

4 % The ring of all even integers under usual operations

Question Number : 62 Question Id : 80089422312 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In the ring (Zg , +4, Xg) Which of the following is not a zero divisor?

Options :

b

1. %

Question Number : 63 Question Id : 80089422313 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The number of units of the ring (Z;q9, +10, X10)

Options :

1.“*“"33



Lh

Question Number : 64 Question Id : 80089422314 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Consider the following two statements.

A) Every field is an integral domain

B) Every finite integral domain is a field

Which of the above statements is/are true?

Options :

1 % Only A is true

> % OnlyB is true

Both A and B are true

4 % Neither A nor B is true

Question Number : 65 Question Id : 80089422315 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The number of ideals in the ring (R, 4+, X) is

Options :

1.% 0



Question Number : 66 Question Id : 80089422316 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

LK S AL ], L LR s B I o
If R is a commutative ring with unity and P # R is a prime ideal of R. Then the Quotient ring o Is
Options :

a field but not Integral domain

an integral domain but not a field
Both field and integral domain

4 % Neither field nor integral domain.

Question Number : 67 Question Id : 80089422317 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A field among the following quotient rings is
Options :

Z

13Z
1.¢



3 % 102Z

z
4. % 36Z

Question Number : 68 Question Id : 80089422318 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Every non-zero homomorphisms from a field F intoaring R is
Options:

1.« One-one

> % Mot one-one

3 % Onto

4 % Neither one-one nor onto

Question Number : 69 Question Id : 80089422319 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

| =]

In the ring the product (3 + 4Z)%=

E=1

4
Options:

| % AL

2 % 3+4L



2+ 47

4 @ 1+4T

Question Number : 70 Question Id : 80089422320 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The product of the polynomials f(x) = 2x2+ 3x + 4 and g(x) =3x%+2x+3 inapolynomial ring zg[x]
18

Options:

x4+ 3x3
e

Question Number : 71 Question Id : 80089422321 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the system of equations x +2y—3z=2; z—x=05; x+y =2 isrepresented in

X 2
matrix notation as AX = B . with X = H ; B=15]; then A =
Z 2

Options :



2.
1 2 3
(1 0 —1)
O
1 2 -3
(—1 0 1)
e ¥l L@

Question Number : 72 Question Id : 80089422322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the following vector spaces:
C[a, b] = set of continuous functions defined on [a, b]
C'[a, b] = set of functions whose first derivatives are continuous on [, b]
Pla, b] = set of all polynomials defined on [&, b]
Which of the following is correct?

Options :

1 % Cla, b] is a subspace of Pla, b]

5 Pla, b] is a subspace of C'[a, b]

3 % C'[a,b] is a subspace of P[a, b]

. Both C[a, b] and C'[a, b] are subspaces of P[a, b]
4,



Question Number : 73 Question Id : 80089422323 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Lk =2 =3

Letﬂz(z 31

) . Then a vector among the following which does not lie in the

null space of A is

Options :

)

[ IS e I S

Question Number : 74 Question Id : 80089422324 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1 @8
LetAd = ({] 1 0) be the 3 X 3 matrix then the column space of A4 is
I A |

Options:
R

1. %



Question Number : 75 Question Id : 80089422325 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let A be a real square matrix of order 6. If column space of A = null space of A. then the

null space of A is
Options :
R3(R)

1. #

5 % R*(R)

3 x REER)

V6 T
v B®

Question Number : 76 Question Id : 80089422326 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

1 3 8
If the vectors 1y = (2) Wy = (4) vz = (16) are linearly dependent then k =

3 5 k
Options :
1. % 4



3 % 16

4w 24

Question Number : 77 Question Id : 80089422327 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let My, be the vector space of all 2 X 2 matrices and define Tt My, » Myypas T(A) = A+ AT,

where A = (S 2) and AT is the transpose of A. Then Kemnel of Tis

Options:

- {(g S) n.E?_F&}

{(—ae; 3): Rl 8 ER}

Question Number : 78 Question Id : 80089422328 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



28 1 5 8
In the vector space R*(R) if |19 |=a|2|+b|0|+c| 9 |.thena+b+c=
37 3 4 10

Options :

1.v 9

Question Number : 79 Question Id : 80089422329 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let P, = {p * p(t)is a polynomial with real coefficients of degree < 2} and
B={1+t,2+t? t+t%} beabasisof I, . Then the coordinate vector of

p(t) = 1+ 2t + 3t? relative to B is

Options :

3)



| = | B
fd

Question Number : 80 Question Id : 80089422330 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let T:R? — R? be a linear transformation such that T (é) = G) and T (?) = (_21) then T (g) =

Options :

e (1)

,(3)

Question Number : 81 Question Id : 80089422331 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
AN | =3
Rank of the matrix 3 =1 1 1s
1 4 =25
Options :

1.% 1



| ]

L]

Question Number : 82 Question Id : 80089422332 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0 0 5
The Characteristic equation of the matrix A = (1 0 6) is
S R

Options :

1 ¢ x3—T7x2—6x—5

5 % B+ Tx24+6x+5

x3+7x2+16x+5

3. %

4 s X+ 17x% +16x+15

Question Number : 83 Question Id : 80089422333 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

=1 B 3

IfA=(1 0 1|. then —(4Y)=
R T |

Options:

| » A2+84



, x A*—84A

5 % A®—84

4 % A3+84

Question Number : 84 Question Id : 80089422334 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let A=(5 :

3 B)and P isa 2 X 2 matrix such that PAP"1 =D .

where D isa 2 X 2 diagonal matrix then D =

Options :

Question Number : 85 Question Id : 80089422335 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The unit vector in the direction of the vector (1,—2,2,1) is

Options :
1 % (1,-2,21)

(1 r S 1)
> % "v10'410' V1o

(—1 =g 2 1)
3. % V10" VI0’ Vo' VIo

( 1 =& 2 1 )
4 v WIO'VIO'VI0' IO

Question Number : 86 Question Id : 80089422336 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Eigen values of a skew Hermitian matrix are

Options :

1. % Negative real numbers
> w Positive real numbers

3 % Complex number with non-zero real part

Either zero or Purely imaginary

Question Number : 87 Question Id : 80089422337 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If 1 and v are unit vectors in the inner product space V(F) then |[u + v||? + |ju —v|*> =

Options :

1.% 2

]

Question Number : 88 Question Id : 80089422338 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Consider the vector space R™. For x = (xy,X3,%3, ... ,Xp), Y=, V3, V3 - .. ,),) ER" and
the inner product of x and y is defined by (x,y) = xy¥y + X5 + . . . + X, V. Then the length of the

vector x in terms of inner product is

Options:

v JED

, 5 0¥

Question Number : 89 Question Id : 80089422339 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

It 3= [g] and v = [g] Then orthogonal projection of u on v is
Options :

EH
12

Question Number : 90 Question Id : 80089422340 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Two subsets S; and S, of an inner product space are such that S, € S,, then their orthogonal complements S;
and S3 are such that

Options :

| sl

5 Lol o

Question Number : 91 Question Id : 80089422341 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bisection method to find a root of an equation of the form f(x) = 0 is based on

Options :

1+ Intermediate value theorem

> % Rolle’s mean value theorem

3 # Lagrange’s mean value theorem

4 % Fundamental theorem of integral calculus

Question Number : 92 Question Id : 80089422342 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

One of the fixed points of the function f(x) = x2—2 is

Options :

1.% 0

I~

Question Number : 93 Question Id : 80089422343 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Newton’s method to find a root of the equation f(x) = 0 uses



Options :

1.« Taylor polynomials

> w Legendre polynomials

3 % Hermite polynomials

4 % Bessel Polynomials

Question Number : 94 Question Id : 80089422344 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

While using Newton-Raphson method to find approximate root off(x) = 0, for allk €N, let x, be the k™
approximation of the approximate root.x;, < {j, < exact root and e, is error at k™" iteration. If ¢4, = ce}. thenc
and n are respectively

Options :
(&) B

1e &7 27 e

O i O .
2 ® . (xx) !

c= 8 3
3, % 2 0

27" (xx)

&= o ==

4. % (€9

Question Number : 95 Question Id : 80089422345 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the function f(x) =e?** —2x—1, x =0 is zero of order



Options :

1.8 1

| o]

tad

4. % 4

Question Number : 96 Question Id : 80089422346 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Aitken’s A% method can be used to

Options :

1. accelerate the consequence of iteration

5 % Select initial approximation for iterations

3 % both 1 and 2

4 w [ind the zeros of the derivatives of functions

Question Number : 97 Question Id : 80089422347 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Lagrange interpolating polynomial among the following that passes through

the points (2.3) and (5.2) is

Options :



x T

11—x

11+x

Question Number : 98 Question Id : 80089422348 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is useful to approximate f(x) when x lies near the centre of the difference table ?

Options :

1 % Newton's forward difference formula

> % Newton's backward difference formula

3. « Stirling formula

4 % Jacobian formula

Question Number : 99 Question Id : 80089422349 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If f(x)=a-b* and f_‘t.g(f {:x:}) = kf(x) whenstepsizeh=1. then k =

Options:
1. ® b —3 l



2. & ':b = 1:}2

3¢ (B—1)3

(b—1)2
4. % 3!

Question Number : 100 Question Id : 80089422350 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Simpson’s rule to find the value of the integral of the function f(x) over [a, b] with equally
b-a S
spacednodes xo =a, xy=a+h andx, =b where h =Ta is ( by ignoring the error term)

Options :

| Je FO0dx =S (o) + 4 Gxp) +2f ()]

22 FOdx = Z1f () + 2f () + f(x)]

2. % °

o S FOOdx = ZIF () — 4f (x0) + f(x2)]

o s Je FOIAX =3 (o) = 2 () + 2]

Analytical Ability

SectionId : 800894436

Section Number: 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 33
Number of Questions to be attempted : 33

Section Marks : 50

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 800894496
Question Shuffling Allowed : Yes

Question Id : 80089422351 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No

Question Numbers : (101 to 110)

On the right side . a question followed by two statements I and IT are given. Answer the following 10 questions by

selecting one of the options as follows

1. Select option 1. If the data given is Statement I alone is sufficient to answer the question

2. Select option 2. If the data given in Statement IT alone is sufficient to answer the question

3. Select option 3. If the data given in both statement I and statement IT put together are sufficient but neither of
the statements alone is sufficient to answer the question

4. Select option 4. If the data given in both statements T and IT put together are not sufficient and additional data

is needed to answer the question.

Sub questions

Question Number : 101 Question Id : 80089422352 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the sum of the present ages of Praveen and Vinod?

Statement I: Praveen is 6 years older than Vinod.

Statement II: After 6 years the ratio of their ages will be 6:5.



Options :
1. %1
2. % 2
3.3

4. % 4

Question Number : 102 Question Id : 80089422353 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the numbers x.y.z and w is the largest?

Statement I: The average of X.y.z and w is 25,

Statement II: The numbers X.y and w are each less than 24,

Options :

Question Number : 103 Question Id : 80089422354 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the two digit number ?
Statement I: The difference between its digits is 2.

Statement IT: The sum of its digits is 4.

Options :

Question Number : 104 Question Id : 80089422355 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Ism=n ?

StatementI: m” > n’

Statement IT: m-n=0.

Options :

4. % 4

Question Number : 105 Question Id : 80089422356 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the values of x and y?

Statement I: x +y =15 and xy = 56.

¥ %
Statement Il: x~ +y~ =113.

Options :

1.1

4. % 4

Question Number : 106 Question Id : 80089422357 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the volume of the rectangular box?
Statement I: The total surface area of the box is 42 sq.mt.

Statement II: The height of the box is 20 cm.

Options :



4.9 4

Question Number : 107 Question Id : 80089422358 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Is p greater than q ?

Statement I: p is multiple of q .

Statement IT: £ =
6

L] |;_"'__"|._

Options :

4. % 4

Question Number : 108 Question Id : 80089422359 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the Value of P?

Statement I:p is a negative whole number.

Statement IT: 4 pz 1s an integer.

Options :



Question Number : 109 Question Id : 80089422360 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What are the dimensions of the rectangle ?
Statement I: The perimeter of the rectangle is 14 cm.

Statement IT: The diagonal of the rectangle is 5 cm.

Options :

Question Number : 110 Question Id : 80089422361 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Is the number divisible by 97
Statement I: The number is divisible by 3

Statement IT: The number is divisible by 27.

Options:

4, % 4
Sub-Section Number : 2

Sub-Section Id : 800894497

Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 80089422362 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The next term in the sequence 6. 13, 25, 51. 101, 18

Options :
1 = 201

Question Number : 112 Question Id : 80089422363 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the missing alphabet in the box?

A D H
F I M
? N R

Options :

1 &M

2. v K

3. # R

4. % T

Question Number : 113 Question Id : 80089422364 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
The missing term in the sequence 6. 12. 21. . 48 is
Options:

R

Question Number : 114 Question Id : 80089422365 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are the missing letters in the series?
- 5T - OL. -GY

Options:
1 % AOR

, v ARO

ORA

R.AO

Question Number : 115 Question Id : 80089422366 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The 10% term in the sequence 6. 12.24, ...... 1s

Options :
1. = 3074

Question Number : 116 Question Id : 80089422367 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the odd one out in the series 1.2.6.15.31.56.91.
Options :
1. % 15

5 % 31

3. % 36

a.v91

Question Number : 117 Question Id : 80089422368 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Pick the odd one out in the sequence 1. 3. 6. 11, 15. 21

Options :

1. % 13



Question Number : 118 Question Id : 80089422369 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Net 1s related to Ball in the same way Sparrow is related to -----------

Options:
1 % SKy

2. % Wanna

3 v MNest

4. % Bird

Question Number : 119 Question Id : 80089422370 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The last two alphanmmumerics in the sequence D4. F6. H8. J10. . are

Options:

1. % L12,M14

> % K12, M13



3 v L12,N14

4 % K12 . MI4

Question Number : 120 Question Id : 80089422371 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The odd one out of the following alternatives is

Options :

13

1. %

2. % 23

3 % 17

Sub-Section Number : 3
Sub-Section Id : 800894498

Question Shuffling Allowed : Yes

Question Id : 80089422372 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (121 to 125)



Answer the questions using the Venn diagram. The figure represents three infersecting circles P, Q and R which

represents sets of players who play cricket, hockey and football. Each region is represented by a small lefter.

Cricket
P

D
AN

Foot ball

Sub questions

Question Number : 121 Question Id : 80089422373 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which letter represents the set of players who play all the games?

Options :

1.“*“"31J

=

Question Number : 122 Question Id : 80089422374 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which letter represents the set of players who play cricket and foot ball but not hockey?
Options :

1. % &



2.¢#Db

Question Number : 123 Question Id : 80089422375 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which letter represents the set of players who play cricket, hockey but not foot ball?

Options :

1. % Db

Question Number : 124 Question Id : 80089422376 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which letter represents the set of players who play hockey.football but not cricket?
Options :

1.1



Question Number : 125 Question Id : 80089422377 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which letter represents the players who plays only hockey?

Options :

1, %@

Sub-Section Number : 4
Sub-Section Id : 800894499

Question Shuffling Allowed : Yes

Question Id : 80089422378 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (126 to 130)



The number of research papers published in peer reviewed journals from the countries India, Pakistan. Bangladesh,

and Sri Lanka in 2019 are represented by the following Pie-chart

Sub questions

Question Number : 126 Question Id

Olindia 28,960

W Pakistan 17, 240
OBangladesh 8,270
OSrilanka 15,275

: 80089422379 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

India share (in %o) in the research publications among all the said countries is

Options:

74 T194
1. 5 _4..-1.0
21.9%

3. % 58.48%

41.52%

Question Number : 127 Question Id

: 80089422380 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The subtended angle (in degrees) made by Bangladesh is

Options:

1 % 180°

2 % 317.31°

g, 0
3 @ 42.69

4 % 90

Question Number : 128 Question Id : 80089422381 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ratio of the difference of the publications of Pakistan and Bangladesh to the difference of
publications of Pakistan and Sri Lanka is

Options :

1. % 1695:8790

508:131
e

20:1695
3 @ 8070:1695

4, % 7521:1253

Question Number : 129 Question Id : 80089422382 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The number of Publications of Bangladesh and Sri Lanka put together are more than that of India by

Options :
1. % 4555

5 @ 5415

Question Number : 130 Question Id : 80089422383 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The difference of the angles of the largest two sectors is
Options :
| w 59.87

60.98

30D

4 60.49

Sub-Section Number : 5
Sub-Section Id : 800894500

Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 80089422384 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In a certain code language “LEARNING” is coded as “LGNINRAE", Then in that language
“SURPRISE” will be coded as

Options :

| ESRIPRUS

> % RUSEPSIR

3 SESIRPRU

4 » ESIRRSU

Question Number : 132 Question Id : 80089422385 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In a certain code, if 13 x45=36. 25x44=56then 13 x42=

Options :

1.% 26

Question Number : 133 Question Id : 80089422386 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a certain code “LAKSHMI” 15 coded as 32.Then “SHIVA™” can be coded as



Options :
1 % 18

, % 16

3. 19

4 % 20

Question Number : 134 Question Id : 80089422387 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In certain code, if ALPHABET is coded as ABALETPH . then in the same code LANGUAGE

is coded as

Options :
1.« UALAGENG

, % LAUAGENG

3 » GENGUALA

4 % ATLENGUALA

Question Number : 135 Question Id : 80089422388 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If DE is coded as10 then what 1s the code for the word HI ?

Options :

1. % 25



36

3 % 64

4. % 144

Question Number : 136 Question Id : 80089422389 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In a certain code every letter of a word is transitioned twice. In the first transition F is written as Q.

OasA SasM, WasU TasR RasB.AasD,EasC. Insecond transition, A is written as M,

MasLRasP.QasN.UasD,Das O, CasK. Bas Q. Then the word ‘SOFTWARE’ after the twoltransitions is

coded as

Options:

1.« IMNPDOQK

> % IMPDOOQK

3 % IMNQEKODD

4 » INMKQODD

Question Number : 137 Question Id : 80089422390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In acertain code the number 35796 is written as 44887 . Then what is the code for the number 468237

Options :
1. % 57914



Question Number : 138 Question Id : 80089422391 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a certain code, if the Vowels A. E. . O, U are replaced by first five Consonants, then in that code

OUTER is coded as

Options :
GFRTC

1. %

,  RTCFG

3. v FGICR

4 % FGRCT

Question Number : 139 Question Id : 80089422392 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If + means +. ¥ means +. +means — and — means ¥ then the value of 40% 1243— 6+60 1s

Options :



3. %6

10

Question Number : 140 Question Id : 80089422393 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In some code language, if RED is coded p¢$, and LED is coded as /¢S, then the code of the word ELDER is

Options:

1« 0180p

5 % o1 3p@

3 % QropS

4. % rOpSO

Question Number : 141 Question Id : 80089422394 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

6 boys are sifting in a circular path facing the centre. B is the left of V. R is between B and M. T is between

V and N. Who 1s between R and V?

Options :

1. % J



4, % N

Question Number : 142 Question Id : 80089422395 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The angle between the minute hand and hour hand of a clock when the time is 5.20 p.m. is

Options :

1 40°

2. % 30°
3 % 200

50¢

Question Number : 143 Question Id : 80089422396 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

40 boys are sitting in a row from left to right. If Raghu sits in 20% position from the right, then number of his

sifting position from the leff is

Options :

1. % 16

2. % 18



Question Number : 144 Question Id : 80089422397 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ravi is brother of Arun. Sony is the sister of Suresh. Arun is the son of Sony. How is Ravi related
to Sony?

Options :

1 % Nephew

2.+ Son
3 % Brother

4 » Father

Question Number : 145 Question Id : 80089422398 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If February 6% falls on Friday, then what would be the 22* day of the month?

Options:
1. « Sunday

5 % Thursday

3 % Wednesday

4 % Monday



Question Number : 146 Question Id : 80089422399 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two cars leave the same place at the same time. One runs at 20 km/hour towards north and the
other at 15 km / hour towards east. What will be the distance between them( in kilometers) after 2
hours of travelling?

Options:

30

1. %

2.+ 30

3 % 40

4.% 70

Question Number : 147 Question Id : 80089422400 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the corner North-East named as West: South-East 1 namead as North; South -West 1 named as East and North-

West 1 named as south, then the East will be named as
Options:
1. % East
2 ® West

3w Noth-East

4. + North-West



Question Number : 148 Question Id : 80089422401 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

50 men can dig 40 holes in 30 days. How long will 25 men take to dig 20 holes?

Options:
1.« 30 days

2 % 60 days

3 % 15 days

4 % 45days

Question Number : 149 Question Id : 80089422402 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many times do the hands of clock coincide in a day?
Options:

1.“'-'"’1-.-

2 % 20

Question Number : 150 Question Id : 80089422403 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If A={1.2.3.4.5.6). B={1.3.4.6}. D={1.5.6}. [ stands for collection of common elements in

two sets, and X© stands for collection of elements which are not in a set X. Then (B(1D) consists

of

Options :

| v {23.4.5)

5 % {1.3.4.5)
- {3.4.5.6]

{1.2.3:4}
4. %

Communicative English

Section Id : 800894437
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42
Section Marks : 50
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 800894501
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 80089422404 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the synonym of the underlined word in the sentence from the alternatives given below:

He has a voracious appetite.

Options :

1 % tenlacious

5 % genuine

3 % Spacious

4. ravenous

Question Number : 152 Question Id : 80089422405 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct synonym of the word ‘amalgamation’ from the options given below.

Options :

1. % Separation

> % Segregation

3. % Dissociation

4 Combination

Question Number : 153 Question Id : 80089422406 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the synonym of the underlined word in the senfence from the alternatives given below:

Too many theorists have deluded the public.

Options:

1 = disclosed

5  isled

3. % secured

4. % cultivated

Question Number : 154 Question Id : 80089422407 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the option that is the most opposite in the meaning to the underlined word in the following sentence.

“The good review enticed me to watch the movie.”

Options :
1 % Attracted

5 « Repelled

3. ® Persuaded

4 w Allured

Question Number : 155 Question Id : 80089422408 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Choose the appropriate antonym of the word underlined:

The villain has a gruesome appearance.

Options:

1 % sorrowful

5 % gigantic

3. # shameful

4« DPleasant

Question Number : 156 Question Id : 80089422409 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the option that is the most opposite in the meaning to the underlined word in the following sentence.

‘Even under great pressure. Dr. Deepak who is the emergency room. he remained as the epitome of

professionalism.’
Options :
1.« antithesis
5 w archetype

3 % embodiment

4 % paradigm

Question Number : 157 Question Id : 80089422410 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling of the word from the choices given below:

Options :

1 % asimilate

> « assimilate

3. % assimumnilate

4 % assimelate

Question Number : 158 Question Id : 80089422411 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the mncorrectly spelt word from the options given below.
Options:

1. ® Miscellaneous

> « Indispensible

3 % Manoeuvre

4 % Lieutenant

Question Number : 159 Question Id : 80089422412 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the misspelt word from the options given below:



Options :

1 % agnostic

5 % Sceptic

3. % prolific

4 assetic

Question Number : 160 Question Id : 80089422413 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct one word substitute to make it a meaningful sentence. ‘He has a fear of open spaces. going

outside or distance from a place of safety. He has

Options:

1« Agoraphobia

5> % Xenophobia

3 % Acrophobia

4 % Lygophobia

Question Number : 161 Question Id : 80089422414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Out of the four alternatives, choose the correct option that can be substituted for the words given below :

The murder of the king is called



Options :

1 % genocide

> % matricide

3 » Patricide

4. « Tegicide

Question Number : 162 Question Id : 80089422415 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Omne who collects coins 1s called a

Options :

1.« Numismatist

2. % Plulatelist

3 % Archaeologist

4 % Philanthropist

Question Number : 163 Question Id : 80089422416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with appropriate word:

The police are tryingto ~ the tense situation and gain the release of the hostages.

Options :

1.« defuse



> % derive

3 ® cnrage

4 % diffuse

Question Number : 164 Question Id : 80089422417 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the sentence that has an incorrect use of underlined phrase from the given options.

Options :

1. % Some of the people are negligent about traffic regulations.

5  The climatic scene of the movie ends with a sudden twist in the story.

3 % Itisaspecious argument which seems to be good at first view but is actually wrong.

4 w Ihe twomen fought a duel over the medal.

Question Number : 165 Question Id : 80089422418 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with appropriate word:

I'wish I had seen the show last night. I heard it was a good and interesting performance.
Options :

1 % quiet

5 % quit



3 « quite

4 % quote

Question Number : 166 Question Id : 80089422419 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the meaning of the idiom in the following sentence?
“Her son is always on the ball to learn new things in class.’
Options :
alert to new trends. ideas, and methods

1.4

> % ready to play football

3 % unwilling

4. % lacks focus

Question Number : 167 Question Id : 80089422420 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the option with the correct meaning of the Idiom given below:

Like a sitting duck
Options :

1 % lazy person

> % sleepy always



3 » meditating in silence

4. + Vulnerable and unprotected

Question Number : 168 Question Id : 80089422421 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What 1s the meaning of the phrasal verb ‘break into’?

Options :

1.« Enter forcibly
> % End a relationship
3 % Escape

4 % Make someone unhappy

Question Number : 169 Question Id : 80089422422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with appropriate phrasal verb:

I am too tired to any nonsense.

Options :

. putby

1.

5  butup with

3 % putoff



4. % put ot

Question Number : 170 Question Id : 80089422423 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the phrasal verb from the options given below that means ‘to stay positive or to not give up’.

Options :

1 % Hangdown

> % Hang up

3 o Hang in

4 Hangover

Question Number : 171 Question Id : 80089422424 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with suitable Article:

Are you attending reception today?

Options :

1.% @

> « the
3 % an

4 % Do article



Question Number : 172 Question Id : 80089422425 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill the blank in the following sentence with an appropriate article from the options given below.

Monica has been working with incredible team since 2020.

Options :

1. ¢ a1

2. % the

3. % No article is required

Question Number : 173 Question Id : 80089422426 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable Preposition:

He looks upset. I think he took the criticism heart.

Options :

1.¥ 10

5 % on

3;31'11

4. % of



Question Number : 174 Question Id : 80089422427 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill the blank in the following sentence with an appropriate preposition from the options given below.

The physical conquest of a mountain is only one part of the achievement. There is more it,
Options :

1. # than

5 % often

3. # then

4 @ t0

Question Number : 175 Question Id : 80089422428 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with appropriate conjunction:

They visited an art gallery a museun.
Options :

1 % but

2. % SO

3. % because

4. and



Question Number : 176 Question Id : 80089422429 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a suitable conjunction to connect the pair of sentences.

It’s one of those cars for seven people. there is plenty of room.

Options :
1. % But

> % Because

3 % Or

4.¢ SO

Question Number : 177 Question Id : 80089422430 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose appropriate Active Voice from the options for the following sentence:

Our task had been completed before sunset.
Options :

1 % We completed our task before sunset.

5 % Wehave completed our task before sunset.

3 % We have had completed our task before sunset.

We had completed our task before sunset.



Question Number : 178 Question Id : 80089422431 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct passive form of the verb to fill in the blank in the following sentence.

‘The decision that was announced yesterday since 31 March 2021°
Options :

1« had been expected

5 % 1is being expected

3 % has been expected

4 % is to be expected

Question Number : 179 Question Id : 80089422432 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose appropriate Passive Voice from the options for the following sentence:
I take exercise daily.

Options :

1 = Exercises are taken daily by me.

5 « Exercise is taken daily by me.

3 % Iam daily taking exercise.

4 % Exercise is been taken daily by me.



Question Number : 180 Question Id : 80089422433 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct form of the verb to fill in the blanks in the following sentence.

‘I didn’t know who she il | her before.’

Options :

1 Was. had never seen

5 % 18, never saw

3, % Was. Was Never secll

4. % has been, had never been

Question Number : 181 Question Id : 80089422434 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with correct form of the verb:

The thief and the eyewitness from the scene just now.

Options :

1. % had escaped
5 % has been escaping
3 % Was escaping

4 have escaped

Question Number : 182 Question Id : 80089422435 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct form of the verb to fill in the blanks in the following senfence.

‘Don’t disturb me. I a letter now.’

Options:

1  amwriting

> % have writing

3. % Was Wwriting

4 % have been writing

Question Number : 183 Question Id : 80089422436 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the correct answer :

Neither the teacher nor the students helpful.

Options :

13315

. Was

3 ¢ are

4 w hasbeen

Question Number : 184 Question Id : 80089422437 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fill in the blank in the following sentence with a suitable verb that is in agreement with the subject from the
options given below.
Every generation its own characteristics, group’s language. technological influences. workplace attitudes,

way of life. etc.
Options :

1. % have

2 « has

Question Number : 185 Question Id : 80089422438 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the correct answer :

Twenty years the minimum age to fill this form.
Options :

1. % 4Ic

2. 18

3. % has

4 w have



Question Number : 186 Question Id : 80089422439 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

From the options given below. identify the part that has an error in the following sentence.

“The moment the Academic Procession (A)/ will stand,(B)/ the band will start playing(C)/ the National Anthem

of India.(D)"

Options :
1.% A

Question Number : 187 Question Id : 80089422440 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct sentence from the options given below:

Options :
1 % I'was impressed rather by the attitude of the speaker than by his subject knowledge.
> % Iwas rather impressed by the attitude of the speaker by than his subject knowledge.

3 « [was impressed by the aftitude of the speaker rather than by his subject knowledge.

4 % Rather I was impressed by the attitude of the speaker than by his subject knowledge.



Question Number : 188 Question Id : 80089422441 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify a grammatically correct sentence from the options given below.

Options :

1.+ Janu, Jai. you and I shall enjoy ourselves at the party tomorrow.

5 % Jai, Janu. I and you will enjoy at the party tomorrow.

3 % L you.Januand Jai will enjoy themselves at the party tomorrow.

4 % You. L. Jai and Janu will be enjoying at the party tomorrow.

Question Number : 189 Question Id : 80089422442 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer given below:

Options :

1 v The ruins of the castle stood on a rocky eminence overlooking the sea and the plains.

5 % Overlooking the sea and the plains on a rocky eminence the ruins of the castle stood.

. The ruins of the castle stood overlooking the sea and the plains on a rocky eminence.

4. % Theruins of the castle overlooking the sea the plains on a rocky eminence stood.



Question Number : 190 Question Id : 80089422443 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify a gramumatically incorrect sentence from the options given below.
Options :
If you had attended online classes with more curiosity and presence of mind, you would have scored more

~ marks.
W

> % IfIwere you. I would study science.

4 Having worked hard during difficult times, you should have had a little more patience with people.

If Krishna finds joy in spending time with his friends only, he does not relish the company of his

4 grandparents.

Sub-Section Number : 2
Sub-Section Id : 800894502
Question Shuffling Allowed : Yes

Question Id : 80089422444 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (191 to 195)



Read the following poem carefully. On the basis of your understanding of the poem, answer the five

questions by choosing the most appropriate answer.

I'had a dove, and the sweet dove died,

And T have thought it died of grieving;

0 what could it grieve for? Its feet were tied
With a silken thread of my own hand’s weaving:
Sweet little red feet! Why would you die?

Why would you leave me, sweet bird, why?
You liv’d alone on the forest tree,

Why. pretty thing. could you live with me?
T'kissd'd you oft. and gave you white peas

Why not live sweetly as in the green trees? — John Keats

Sub questions

Question Number : 191 Question Id : 80089422445 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
For what is the bird grieving?

Options :

1 % Trees

5 % Nature

3 « Freedom

4. % Love

Question Number : 192 Question Id : 80089422446 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



With what did the poet tie the bird’s feet?
Options:

1 % Chain

> % Cloth

3. Silk thread

4 % Cotton thread

Question Number : 193 Question Id : 80089422447 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does ‘lived alone on the forest tree” symbolise?
Options :
1. % A dependent life

5  Freedom

3 x Alonely life

4 w Adulllife

Question Number : 194 Question Id : 80089422448 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What does the poet personify with a dove?
Options :

1. % Melancholy



5  Love

3 % Light

4. % Death

Question Number : 195 Question Id : 80089422449 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does the phrase ‘its feet were tied” mean?
Options :
1 % Restrain

2 % Concern

3 % Protection

4 Bondage

Sub-Section Number : 3
Sub-Section Id : 800894503
Question Shuffling Allowed : Yes

Question Id : 80089422450 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (196 to 200)



Read the following passage carefully and answer the questions

As Twrite, highly civilized human beings are flying overhead. trying to kill me. They do not fee any enmity
against me as an individual, nor [ against them. They are ‘only doing their work’, as the saying goes. Most of
them are kind-hearted law-abiding men who would never dream of committing murder in private life. But if one
of them succeeds in blowing me to pieces, he will still be able to sleep without any degree of compunction. He is

serving his country, which has the power to absolve him from evil.

Sub questions

Question Number : 196 Question Id : 80089422451 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The people who are flying overhead are called highly civilized because they:

Options :

1 % are kindhearted

5 « are doing their duty

3 % aretrained bombers

4. % draw heavy salaries

Question Number : 197 Question Id : 80089422452 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The person who succeeds in killing the author will:

Options :

1. % mnever sleep undisturbed

>  be without any repentance



3 % suffer a lot

4 w consider himself a sinner

Question Number : 198 Question Id : 80089422453 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The reason why they are trying to kill the author is that:

Options :

1% they have murderous instincts

> % they have a grudge against the author

3« they have an assigned job

4 % the author is not as law-abiding as they are

Question Number : 199 Question Id : 80089422454 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In this passage the author assumes that doing one’s duty to one’s country:

Options :

1 % Intensifies one’s sensitivity
Exonerates a person of his act of killing

2. %

Makes one kind-hearted



4 % Makes one desist from doing anything unscrupulous

Question Number : 200 Question Id : 80089422455 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the tone of the author in this passage ?

Options :
1.« patriotic
5> w indifferent

3. % hostile

4. ¥ casual



